order number: 481A70

BqlanceBo)@ Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories
HEIGHT ADJUSTABLE MOUNTS

DGGED GEED GEED GEED GEEED ¢ 0000000 01¢
IDGGEDGEED GEED GIED GEEED ¢ 0000000 0 (

Installation manual

Part nr. 902916-02

Thomas Regout Inc. .hei j - - Regout Balance Systems B.\V.




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

What’s in the box

) QS A o o
A S [o] a (o] [o] a [e]
B © o LQJ) ° o ; o o
C [cooocoocooo00000 ¢ Y Y Y —— []
C [cooocoocooo00000 ¢ Y Y ¢ Y — [}
D : Bag of screws; 539962
E — Bag of screws; 539963

Tools needed Safety Instructions

i

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

L)

Choose on what BalanceBox® product you want to mount the Universal Vesa Bracket

BalanceBox®400
(480A1x)?

Go to step 2

BalanceBox®650
(484A0x)?

Go to step 3

o

L{H
Mobile Stand Mix

BalanceBox®400
(481A71001)?

Go to step 4

0 5 S > >
e M )

= . U >
8 o ° @

I .
Floor support of the
BalanceBox®400

(481A42)?

Go to step 5

Floor support of the

BalanceBox®650
(481A13)?

Go to step 7

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

2
BalanceBox®400

_ _ /\
@\*’\o . . - ° & @)

A m

Ep 6
©

454 mm

17.9” * A ﬁ

TOP

/_\ 1:1
4x M8x12

Part nr. 902916-02

Go to step 9; page 11




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

3
BalanceBox®650

S
[ S—

b

TOP

N
O

565 mm
22 %"

S
—
(1=
1:1 S
8x Mb6x12 §
3

Go to step 9; page 11




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

Mobile Stand Mix

TOP
U\ﬂ—l—l—{ﬂ Mounting Mounting
height 1 height 2

ﬁ\ﬂ—,—l—ﬂ/ﬂ

2x M8 screws

OB [E

1:1 2x M6x12
|
| .
2x M6 screws NI _®_ - :
2x M6 washers ! 2x M8x12
1:1 2x M6

™~ |

Go to step 9; page 11

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

Floorsupport BalanceBox®400

671 mm
26.4”

O

(set screw)

TOP

c/ A

Go to step 6; page 8

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

6
C\ Floorsupport BalanceBox®400

D'E
.
> v

565 mm )
22 %"

(o=

@

Jrarn & i — —

| _ N
- 5

1:1
4x M8x12

I N
‘\\N‘

S

/

of/

Y of

Part nr. 902916-02

Go to step 9; page 11




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

Floorsupport BalanceBox®650

671 mm
26.4”

[]
I°]

[ g
O

(set screw)
TOP

(=]
' G
@ .
e/
/\
@ __

Go to step 8; page 10

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

8
C\ Floorsupport BalanceBox®650

565 mm \ A A

22 %

TOP

1:1
4x M8x12

Part nr. 902916-02

Go to step 9; page 11




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

9
Touch panel

) 0000000000000 ]
400

500

O

\\
=t = )
600

JC

2 C

/ ~

I I

o

|~
)
E 4x Mb6x12 ﬂn |

gﬁ —/

: x 4x M6 @

1:1

4x M8x20 G
4x M10x20 @ [|

Go to step 10; page 12

Part nr. 902916-02

11




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

(1)

Touch panel

& Make sure the screen sits correctly in both horizontal brackets! &

STEP3,5&7

Ik

d

STEP2 & 4

AA

12

Go to step 11; page 13

Part nr. 902916-02




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

11
C\ Lock the VESA brackt with the lock screws; M6x12 from bag D
NN \

1:1
2x Mb6x12

ZT das 0109

(t2)

(/ (7

BalanceBox®400 BalanceBox®650

Part nr. 902916-02

13




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

Part nr. 902916-02

14




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

Part nr. 902916-02

15




Universal Vesa Bracket

For the BalanceBox®400, BalanceBox®650 and accessories

o
<
O
—
2]
o
o
[e)]
[
c
=
—
©
a8

Regout Balance Systems B.V. Industrieweg 40 6219NR Maastricht The Netherlands

Thomas Regout Inc 1445 Londonderry Drive Woodstock 30188 GA USA




